[ Efficiency vs vertpos |
- 05

% 0.45F-
g F
> 04F
Q F
50.35_—
= E
5 03
0.25F;
0.2
0.15F
0.1
0.05F
o +oF :
I F : 1L
nd [ H
1*- B 0-05-1» -l - b :; -----------

0.95 : :
1072 10 1

10 0?
TP vertr (cr%)

—=#— DQM_CKF_XiMinusPU_base
Efficienq —— poMm_cKF_xiMinusPU_retrainOldFiles125_v2_prelimWPM_epoch0

~ 0.5
T S R P R

o F : : : : ,

2 04 b
> F . . . . N

LC) F H . H N .
R S S S S
3] E : : : :

£ 0.3F bbb
5] E : : : :

O R H s St SIS ST
o : : By @t .
0.2F------ ORI . Bk *+-+.' -------- P

AL UL . N

O e

0.05F 1 ﬁ ........ AR I
T

0 bbb
R 1 i SSie

118/ S 1
-l MM 31 SE
-30 -20 -10 O 10 20 30
TP vert z (cm)

Ratio

[ Efficiency vs. sim PV z |
~ 05
>
Q. 0.45
IS
5 04
20.35
0.3
£0.25
5}
0.2
0.15
0.1
0.05]

lency

Ratio

._.
T

05215510 5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


